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Solutions Worksheet #6: Stoichiometry in Aqueous Solutions

1.
How many liters of NO(g) are produced when 0.85L of 2.00 M HNO3 solution is added to 216 of Ag according to the equation.   Which reactant is the limiting reactant?

3 Ag(s) + 4 HNO3(aq) (3 AgNO3(aq) + NO(g) + 2 H2O(l)


2.
Calculate the mass of water produced when 0.333 L of 0.500 M NaOH is added to 3.0 grams of acetic acid.  The equation is:

NaOH(aq) + HC2H3O2(aq) ( NaC2H3O2(aq) + H2O(l)

3.
Calculate the number of grams of AgCl formed when 0.200 L of 0.200 M AgNO3 is added to 75.0 grams of CaCl2.  The equation is:

2 AgNO3(aq) + CaCl2(aq) ( 2 AgCl(s) + Ca(NO3)2(aq)
4.
Calculate the mass of AgCl formed when 0.250 L of 0.100 M solution of NaCl is added to 0.100 L of 0.200 M AgNO3.

AgNO3(aq) + NaCl(aq) ( AgCl(s) + NaNO3(aq)

5.
Calculate the mass of BaSO4 formed when 0.875 L of 0.200 M Na2SO4 solution is added to 0.500 L of 0.500 M BaCl2 solution.
BaCl2(aq) + Na2SO4(aq) ( 2 NaCl(aq) + BaSO4(s)

